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Full name of our Prime Minister is

A) Narendra Modi B) Narendra Damodardas Modi
C) Narender Bhai Modi D) Narendra Daadaji Modi A
Governor of Punjab is '

A) S. Parkash Singh Badal B) S. Sukhbir Badal

C) Mrs. Kirron Kher _ D) Sh. Shiv Raj Patil

Water is combination of J

A) 2 units of Hydrogen and 1 unit of Oxygen

B) 3 units of Hydrogen and 2 units of oxygen

C) 1 unit of Hydrogen and 1 unit of oxygen

D)l 2 units of Hydrogen and 2 units of oxygen

Normal temperature of human body is . :
A)39°C B) 36°C e3¢ D) 98.4°C
T.V. was invented by

A) A.G.Bell B) J.L.Baird - C) James Watt D) J.Perkins

The gas used to extinguish fire is -

A) Neon B) Niuogen e C) Carbon dioxide D) Carbon monoxide
The Sikh Guru whose birth place and death place was the same ]

A) Guru Angad Dev Ji \ " B) Guru Har Rai Ji
C)GuruRamDasJi - A, D) Guru Harkrishan Ji

Who wrote ‘awwal allah noor upaya, kudrat de sab bande’
A) Baba Farid  B) Bhagat Ravi Das C) Bhagat Kabir D) Guru Nanak Dev Ji

Hot blowing winds before mbqsoons arrive in Punjab, are called

- A) loo B) mangowinds .  C)aandhi D) Chinooks
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25.  Gateway of India is in

A) Delhi B) Mumbai ' C) Agra D) Chennai
26.  Who built the Taj Mahal? _
A)SherShah Suri  B)Akbar
C) Shahjahan . D) Aurangzeb -
27.  Which one of the following tests helps in diagnosis of cancer?
 A)Xeray  -B) urine test C)blood test D) biopsy test

28. Lightyear is 2 unit of measurement of : ) :
A) speed of light B) stellar distance ~ C) speed of rockets D) time period
29.  “Googly’ is associated with

 A) cricket ©* B)tennis C)wrestling D) hockey
30. Who was known as the Lady‘with the Leimp?
A) Sarojini Naidu ‘ _ B) Florence Nightingale
C) Indira Gandhi * . ; - D) Mother Teresa

31.  ‘Akhar 2010’ is
A )ilinenalPusiabi English Word Processor
B) prbgramme to preserve Punjabi as a language at international arena
C) mission to promote Punjabi as 2* language in North India
. D) seminar held to honour various personalities of Punjabi Literature
. 32.  In which year was Mahatma Gandhi shot dead?

~A) 1947 B) 1948 ' - C) 1949 D) 1950
33.  Which of the following is direct tax ? . ' ‘
A) sales tax B) excise duty C) income tax D) both A) and C)

34.  Who is known as Flying Sikh of India ?
A) Mohinder Singh  B) Ajit Pal Singh C) Joginder Singh = D) Milkha Singh
35.  Anancient site which consists of 7 caves famous for the Trimurti and other sculptures is
A) Ajanta Caves B) Ellora Caves C) Elephanta Caves D) none of these
- 36.  What number is nearest td 99547 which is divisible by 687 ?
A) 98928 B) 99479 - C)99615 D) 100165
37 Thc greatest possil;le length of scale that can be used to measure exactly the lengths 3m,
Smand 12 m 90 cm. - '
‘A) 10 cm . B)20 cm ' C)25cm D)30cm:
38. What is the least number which is divided by 5, 6, 7, 8, gives remainder 3 in each case ;
and is completely divisible by 97
A) 1677 B) 1683 C)2523 D) 3601
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1 litre of water weighs 1 Kg.  How many cubic millimetres of water will weigh 0.1 gm?
A) 0.1 B) 1.0 ‘ C) 10 ‘D) 100

A bus starts from a depot filled to ‘capacity. It stops at station A, where 1/3 of the
passengers alight and .30 board the bus. At the station B, % of the passengers alight and

12 board the bus. At station C which was the last stop, all the 84 passengers alight.

What is the capacity of the bus? ‘

A) 90 B)96 C) 99 . D) 108

The price of 10 chairs is equal to that of 4 tables. Thé price of 15 chairs and 2 tables
together is Rs.4000. Find the total price of 12 chairs and 3 tables. .

 A)3900 B) 3600 C) 4200 D) 400
B L5 :
G peah
1 5756 2 arple s
1 1 (3 1] 3 2
L ,
35 (g0
TR 1
A)9 Bl o013 - D)15 >

Rohit was asked to find 7/9 of a fraction. But, he n{adc a mistake of dividing the given
fraction by 7/9 and got an answer which exceeded the correct answer by 8/21. The

correct answer is:

A)37 B) 7/12 C) 221 D) 13
V13.69 + V0.1369 + V0.001369 + V0.00001369 =?
A) 4.1107 B)5.0017  ° C)3.1107 D) 4.0

In a class with a certain number of students, if one student weighing 50 kg is added then
average weight of class increases by 1 Kg. If one more student weighing 50 Kg is added,

the average weight of the class increases by 1.5 Kg over the original average. What is

' original average weight of the class?

A)2Kg 'B)4Kg ' C) 46 Kg D) 47 Kg

If the sum of three consecutive numbers is more than the middle number by 130, then the
middle number is: |
A) 64 " B)6S C) 66 D) 60

The present age of 2 man is five times the age of his son. Five years ago, the age of the

~man was ten times the age of his son at that time. How old is the man at present ?
'A) 45 years B) 48 years C)49years D) 54 years

410000 = (100)?

A) 72 B) Vs | - O8 D)2
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605 sweets were distributed equally among children in such a way that the number of
sweets received by each chila is 20% of the total number of children. How many sweets
did each child get? ' :

A) 24 B) 55 oy, D)2k

By selling a watch for Rs.1440, a man loses 10%. At what price should he sell it to gafn
5%?

A) 1660 . B) 1480 C) 1580 - D) 1680
Rs.6400 is divided among 3 workers in ratio of 3/5:2:5/3. The share of second worker is
‘A) Rs.2560 B) Rs.3000 C) Rs.3200 - D) Rs.3840

A and B undertook to do a piece of work for Rs.4500. A alone could do it in 8 days and
B alone in 12 days. With the assistance of C, they finished it in 4 days. C’s share of
money is: A

A)Rs375 B) Rs.750 C) Rs.1500 D) Rs.2250

Ram jogs 9 Km at a speed of 6 km/hr. At what speed would he need to run during next
1.5 hrs to have average speed of 9 Km/hr for the entire jogging period?

. A) 9 Km/hr B) 10 Km/hr C) 12 Km/hr . D) 14 Km/hr.
The sum of money that will give Re. 1 as simple interest per day- at the rate of 5% per
aﬁnum ‘ '

A) Rs.730 B)Rs3650  C)Rs.7300 D) Rs.36500

. The perimeter of a rectangle is 60 m. If its length is twice its breadth, then its area is

A) 160 m* B) 180 m* C) 200 m* D) 220 m’

First Aid means immediate help given to a victim of injury or sudden illness

A) till the medical help arrives B) to cure the victim

C) itis a long time treatment . D) itis by a fully qualified medico
The goal/goals of First Aid is/are ‘

A) prevent the victim from getting worse — B) keep the victim alive -

C) ensure the victim receives medical aid D) all of above

- Which among the following need not to be in first aid kit ?

A) cotton B) surgiéal equipment C) bandages D) adhesive bandage
Rescue breathing, a part of First Aid, is needed to

A) get oxygen into victim’s blood ' B) circulate blood to vital organs

C) get needed oxygen into victim’s lungs D) all of above

As a First Aid Provider, you should not act in which one of the following ways ?
A) safeguard yourself from getting any infection B) take victim’s consent

C) differentiate among rich and poor D) call for medical help
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Basic Life Support refers to First Aid not needed for victims of
A) heart attack ' B) drowning . C)choking - D) arm fracture
If you are trained for first aid and find a person lying quietly on road after an accident,

you would

© A) Check whether victim is breathing ~ B) check victim for signs of circulation

C) position the victim to open airway D) all the above

If you havé been trained for First Aid, which one action of the following is not correct 2.

" A) stopping at the scene of emergency  B) giving first aid to victims

C) skipping at the scene of emergency D) helping the victim to recover
In case of accident, you must call emergency number if

A) victim’s condition is life threateriing

B) victim is unresponsive

C) moving the victim could ﬁake victim’s condition worse

D) ail of the above _

In case of nose bleeding, what should be done?

A) use direct pressure, elevation 'and pressure points to contrdl bleeding
B) tilt the head back and tightly squeeze the nostrils - -

C) ask the victim to lean forward, apply gentle pressure on nostrils, apply cold towel
D) lay victim on his back and treat for the shock and apply heat .

What is ‘Hurry Case’?

A) victim breathing, bleeding and broken bones

B) victim is vomiting

C) situation reqﬁiring rescue breathing

D) any condition that threatens the victim’s life

Which one of the following techniques is suitable for carrying an unconscious victim?

A) blanket drag B) four handed seat carry
' C) carrying on shoulder D) two persons carry ‘
In case of minor burn, you can treat the injury by
A) placing under cold running water - B) applying ice
C) applying antiseptic cream- D) covering with bandage

If someone faints, the first thing you should do is’

A) sprinkle cold water on face ‘ B) raise the feet

C) make the victim to lie down on his tummy D) give séméthing to drink
To assess, if a person has had a stroke, ask the victim to

Aj blowakiss  B) tell his/her name C) smile D) stand up
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